
Demo Questions
VMWARE 2V0-41-20 Exam

Professional VMware NSX-T Data Center

Thank you for downloading 2V0-41-20 Exam PDF

Question #1Topic 1

An NSX administrator noticed that the nsxcli command times out after 600 secs of idle time.
Which CLI command disables the nsxcli time out value on NSX Manager?

● A. set cli-timeout 0
● B. set cli-timeout enabled
● C. set cli-timeout disabled
● D. set cli-timeout 1

Correct Answer: A

Question #2Topic 1

An NSX administrator is configuring the KVM hypervisor host as a transport node and wants to
apply the Failover Order as a NIC teaming policy.
Which profile allows the administrator to configure the NIC Teaming policy as Failover Order?

● A. N-VDS/VDS Profile
● B. Transport Node Profile
● C. Host Switch Profile
● D. Uplink Profile

Correct Answer: D



Question #3Topic 1

Which two choices are prerequisites to configure NSX-T on VDS? (Choose two.)

● A. MTU 1500
● B. MTU 1400
● C. vSphere Distributed Switch 6.5
● D. vSphere Distributed Switch 7.0
● E. MTU 1600

Correct Answer: DE

Question #4Topic 1

Which command is used to display the network configuration of the Tunnel Endpoint (TEP) IP on a
bare metal transport node?

● A. ifconfig
● B. tcpdump
● C. debug
● D. ipconfig

Correct Answer: A

Question #5Topic 1

Which three steps are required to create an IPsec VPN tunnel? (Choose three.)

● A. Create an IPsec service.
● B. Add a local endpoint.
● C. Configure an IPsec session.
● D. Configure a distributed firewall policy.
● E. Add a logical switch.

Correct Answer: ABC


